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A. Read and chose the right answer

Los Angeles and San Francisco are cities in the state of California, in the U.S.
They are about 650 kilometers apart. Millions of people travel between these
cities every year. Today, the fastest way to travel between them is by airplane.
It is about one hour. However, a new idea could make this trip shorter.

The Hyperloop is a kind of train. It could make the 650-kilometer trip in
only thirty minutes. It could go 1,100 kilometers per hour, which is faster than

an airplane. It would carry passengers in cars called pods. Pods would use

magnets and low air pressure to float
and move through tubes. This is how
the Hyperloop would be able to go 650
kilometers in only thirty minutes.

The Hyperloop is still just an idea.
It's the idea of an inventor named Elon
Musk. It would cost billions of dollars,
but it would save many people a lot of

time.

1. What is the main purpose of the

3. Which is NOT true according to the reading.?
reading?

To introduce an inventor The Hyperloop is almost finished being built -

To compare different ways of traveling The pods are expected to travel at speed of

To explain the price of high-speed travel 1.100 kilometers per hour.

d. Todescribe a new and fast way to travel

The hyperloop could cut the travel time .

2. What two things work together to between two cities in half.

move the pods? Millions of people travel between Los

Large tubes and pods Angeles and San Francisco every year.

Magnets and air conditioning

Low air pressure and magnets

High air pressure and electricity




B. Choose the right word to complete each sentences. There are two
extra words.

passengers magnet tubes billions float apart inventor pressure

1. We let go of the balloons and watched them across the sky.
2. He put the chairs about one meter .from each other.
3. Dan used a(n) to pick up the small piece of metal on the floor.

4. There are _ of stars in space.

5. There is too much on the shelf from the heavy books. | think it will
break.

6. The bus was filled with heading to the World Cup soccer match.

C. Read and choose the right answer.

Alaska is the largest state in the U.S.
Almost 300,000 people live in the city
of Anchorage, in southern Alaska. It is
a very unique place. One special thing
about Anchorage is that moose live in
the city. Between 250 to 1,000 moose
live in the city at different times of the
year.
The reason moose live in Anchorage
is because they feel comfortable there.
In the wild, bears try to kill and eat moose. But in the city, there is plenty of
food to eat. Bears, moose, and other animals get food from dumpsters. In the
winter, they can go into people’s yards and eat branches from the trees. In the
summer, they can eat plants from people’s gardens.
Most people don’t mind having moose in the city. Although some moose

cause small problems, these animals make the city special. The people of

Anchoraae have even made the moose a symbol of the citv.

. What is the reading mainly about? 2. What goes into people's yards in the winter?
. The biggest city in Alaska . a. Branch

. Moose living in the city . b. Driver

. Why people move to Anchorage . . Person

. Foods that moose like . . Moose




3. Which is NOT true according to the reading 4. There are live in Anchorage city.

. Bears attack moose in the wild. B ¢ There are 500,000 people O

. The moose is symbol of Anchorage . . Almost 3000,000 people live in the city -

. Many people do not want moose in . Almost 300,000 people live in the city .
the city . There 1,000 moose live in the city. .
. Moose in the city get food from -

peoples gardens.

D. Choose the right word to complete each sentence. There two exira
words.

mind comfortable southern branch plenty dumpster wild moose

. There is of food in the dog’s bowl. Don't put any more.

. The broke and fell to the ground during the storm.
. He threw the trash into the

. The is an animal that looks kind of like a large deer.

. She was twenty minutes late, but he didn’t

. She fell asleep in the chair.




